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Y How many[6-digit telephone humbers can be constructed
using the digits 0 to 9 if each number starts with (987 Zmd no
digit appears more than once?
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Given[S flags of different colours)how many different signals
can be generated if each signal requires the use of 2 flags,
one below the other?
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There are 3 candidates for a physics,5 for a Maths & 4 for a
natural science scholarship. In how many way can these
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In a@fnem’é hal), there are three entrance doors and two exit
doors .In How many ways can a person enter the hall and
hen come out?
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There are 4 routes between Delhi and Patna. In how many
ways can a man go from Delhi to Patna and return if for
returnmg any route can be taken
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There are 4 routes between Delhi and Patna. In how many
ways can a man go from Delhi to Patna and return if for
returning same route is taken
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There are 4 routes between Delhi and Patna. In how many
ways can a man go from Delhi to Patna and return if for

returning same route is not taken

r J ﬁ‘
. 4
': : \ " ’\\‘\/
N

‘*I‘

s B
RONMRMNEA N\
'f“.';‘.nlb-h:'&'f’s'ﬂ K‘ ‘

(TR %»

:
i l!



How many words (with or without meaning) of@
distinct letters pf the English alphabet are there?
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In an exan@e false}ypq_q_l_lestions are asked . If each
question is compulsory, in how many way a student can
answer the question ?
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In how many ways can the following prizes be given
away to a class of 30 students, first and second in
mathematics, first and second in physics, firstin

chemistry and firstin English.
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How many( -digit numbers}an be formed from the
digits 1, 2, 3, 4 and 5 assuming that repetition of digit is
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How many(3-digit numbers Qan be formed from the
digits 1, 2, 3, 4 and 5 assuming that repetition of digit is
allowed
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How many| 3-digit)even numbers can be formed from
the digits 1, 2, 3,4, 5 & 6 assuming that repetition of
digit is allowed




How many@igit even numbers}an be formed from
the digits 1, 2, 3, 4, 5 & 6 assuming that repetition of
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— How many 3 digit numbers can be formed using the
v i T \ digits 0, 1,2,3,4 & 5 if repetition of digit is not allowed




= How Many 4 digit numbers are
~ \ there if no digit is repeated
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How many numbers can be made using Atleast 2 digits
\ from 1,2,3 and 1 4 if no repetition is allowed ?
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Ny Give ( 6 ﬂags of different coloursyhow many different signals
—~7 . X\ can be generated if each signal requires the use of atleast 3
one below the other?
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How many@e;tters words]with or without meaning,
can be made out of the letters of the word N
“LOGARITHMS” if repetition of letters is not allowed







pf the word “EQUATI
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How many words can be formed from the letters of A\ V\ 4

B et Tl S ——

the word “EQUATION” so that The [vﬂovT/els always7

W loccur together
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How many words can be formed from the letters of
the word “FAILURE” so that The@wels are alway57
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f \Q ( 10 examinatio@papers are arranged in such a way
e | that the best and worst papers always come
together. The number of arrangements is
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10 examination papers are arranged in such a way

that the best and worst papers never come together.
The number of arrangements is
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Find the number of ways in which(5 boys and
can be seated inarow so that(no two girls jare

together .?
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It is required to seaf 5 menjand 4 women jh a row so

that the women occupy the even places. How many
such arrangements are possible?
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[f the letters word ﬁ_/_\QCﬁT_EPi are to be
arranged so that vowels occupy the odd places,
then number of different words are
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NS Whatis the(sum of all 3 digit numbers jvhich
e 1 \ can be made using each digit from 1,3 &5 ?




The sum of all 4 digit number containing the
digits 2, 4, 6, 8, without repetitions is
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How many permutations of the letters of
word “APPLE” are there?
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.. %) Words can be formed by using all the letters of the word \
7 ‘\ “ALLAHABAD". In how many of them both L do not come together? ‘
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: 1) How many permutations of the letters of word “PUNCH" are \l\ '
2‘7{' “\ there when there@?e exactly two letters between P & \Cj ‘

P ——— Q_ e ?_ P = g\o — 6
l ! \
©. = c Y o=w o

» - “k’
[} | - ;
< N O n e P — M\\*«..\x\\\\* A
' , "" Py vvw" ‘\t\
b e T e v e v e o - ZJ %\M\h‘- tt;\

‘ »

Nll“













ot Cig0on {eymototion uohan
%\Wm \\U&\a\onu\s N RC\)M\%\ =

( Noc\i\yces




S0 \Q }
=X The number of ways in which 7 girls form a ring is
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» he number of ways in which 7 boys sit in a round
. “\ table so that two particular boys may sit together is ‘
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[f 3 sisters and 8 other girls are together playing, Then
the numbers of ways all the girls are seated around a
circle such that three sisters are never together is
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(ky
" Find the number of ways for 15 people to sit A\ 4
\ around the table so that no two arrangements
Ce have the same neighbors ~
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The total number of ways in which six@and four@
signs can be arranged in a line such that no two(—)signs
occur togetheris | N
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How man)g cl(ioras Jcan be drawn throug points
on a circle
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In how many way can committee of 3 person be
(selecte?from 5 person ?
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Every two persons shakes hands with each other in a

party and the total number of guest is 12. The number of
handshakes ?
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Every two persons shakes hands with each other in a
party and the total number of hand shakes is 15. The
number of guests in the party is
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2% In how many ways can a team of 3 boys and 3 girls be
\ selected}rom 5 boys and 4 girls?
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Find the number of ways of selecting 9 balls from 6 red
balls, 5 white balls and 5 blue Balls if each selection
consists of 3 balls of each colour
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In how many ways canfone select)a cricket team of(eleven
from 17 players)in which only 5 p players can bowl if each
cricket team of 11 must stinclude e exactly 4 bowlers?




In how many ways can a student choose a course off 5
subjects)if 9 subjects are available and 2 specific subjects
are compulsory for every student?
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the English alphabet has 5 vowels and 21 consonants. How
many words with two Different vowels and 2 different
consonants can be formed from the alphabet?
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S0 Q There are 12 points in a plane of which 5 are @
f—T{'— collmear The number of angles is
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<8 There are 12 points in a plane of which 5 are @
=7 collinear. The number of lines ?
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The number of ways in which 15 mangoes can be
equally divided among(- students\?
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The number of ways in which 12 students can be
equally divided into three groups is
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: Supreme Court has given a 6 to 3 decision

upholding a lower court; the number of ways |t can
give a majority decision reversing the lower court is

——0

otk Dobn = L g = 9
DeCisSron o\ L D W)k @yt will 1:

_ 1 - ° 1 A

i \ \ : * v
ik 1 A Y O\_-; r AT e
s 3y 2\ ‘“

I\

126 %\-\~ SVEAT] R sy E
w B



3 ladies and 3 gents can be seated at a round
table so that any two and only two of the ladies sit
together. The number of ways is




(Ky)
The results of 8 matches (Win, Loss or Draw) are \ V4
to be predicted. The number of different forecasts

containing exact{y 6 correct results is )
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A person has The number of ways in

which he may invite one or more of them toa
g i
dinner is.
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[f all the permutations of the letters of the word
"CHALK’ are written in a dictionary the rank of
this word will be__?




what is the rank or order of the word "ZENITH’ in
the dictionary
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\ In an examination, a question paper consists of 12 questions
divided into two partsi.e., Part I and Part II, containing 5 and
questions, respectively. A student is required to
questions in all, selecting at least 3 from each part. In how
many ways can a student select the questions?
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An examination paper with 10 questions consists of
= 6 questions in Algebra and 4 questions in Geometry.
- \ At least one question from each section is to be

| attempted. In how many ways can this be done?
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Find the( umber of ways in which an arrangemen?of 4
letters can be made from the word "MATHEMATICS.
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